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Carefully read the instructions given on Question Paper, OMR Sheet
and Answer Sheet.

weeA-gfEasr €Y smar R vd ST F g1 udend fRdr o w
HIST T T T TohcT §1 (3720, 1 o RBedr a7 33eh)

Question Paper is in Hindi and English language. Candidate can
choose to answer in any one of the language (i.e., either Hindi or
English)

SH AlSYAAT & & HET §| AT vF F IR geT 3N Hwr & F
aier geaT Bl

There are TWO PARTS in this Module/Paper. PART ONE contains
FOUR questions and PART TWO contains FIVE questions.

HIT T “Johfoush” GehY 1 & forash el 3ich 40 § dum #mr al,
“eIFIRF" JFR & 3R gHF Tl 3 60 B

PART ONE is Objective type and carries 40 Marks. PART TWO is
subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER SHEET only,
supplied with the question paper, as per the instructions contained
therein. PART ONE is NOT to be answered in the answer book for
PART TWO.
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Maximum time allotted for PART ONE is ONE HOUR. Answer book
for PART TWO will be supplied at the table when the answer sheet
for PART ONE is returned. However, candidates who complete
PART ONE earlier than one hour, can collect the answer book for
PART TWO immediately after handing over the answer sheet for
PART ONE.
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Candidate cannot leave the examination halllroom without
signing on the attendance sheet or handing over his Answer
sheet to the invigilator. Failing in doing so, will amount to
disqualification of Candidate in this Module/Paper.

TeT-gieaaHr FT Fiet & fider Aest & Teaa @ 3 & § Tee
3rflear I ST X IF g & & 6 ge-qiEdas ucds
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After receiving the instruction to open the booklet and before
answering the questions, the candidate should ensure that the
Question booklet is complete in all respect.

e iy Redr aEor A 91§ AR/ Tawwfa o el &, @ 3@ srawr A IS FEwOr § AT dew |

Note: In case of any discrepancy found in Hindi language, English version will be treated as final.

SIS b 3T el o ST dd doh Y-l o Wiel |
DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




PART ONE / 91T Uh
(Answer all the questions) / (W4l T%H & IR <)

1. YA Y & IIRT & $s fdded - 3T 0 T | Uh
a4 SUYad fabed g 3R S efeiad (el &
T UF & W1 Ul BN Y “IAITHIIR

IR TAE 4 <o P |
Each question below gives a multiple choice of
answers. Choose the most appropriate one

and enter in the “OMR” answer sheet supplied
with the question paper, following instructions

therein. (1x10)
1.1 IPv6 UZHE &l 3R g1 &
A) 32 facH B) 64 fdcH
C) 128 fdcH D) 256 faca
IPv6 addressed have a size of
A) 32 bits B) 64 bits
C) 128 bhits D) 256 bits
1.2 TCP/IP Teh Aoiage Wbl I § S
foh OS| Alsel W gl AR fad forar ar |
A) 7T B) 5-o
C) 4-od D) 3-od
TCP/IP is a hierarchical protocol suite
developed before the OSI model.
A) T7-layers B) 5-layers
C) 4-layers D) 3-layers

1.3 AT YT S-HeT Yo I Thl g, olfohel dg 3TTeT
SO Al FE Tehal | FeAtat@d F @ #la @
THAT: 3Hb I THEAT 3cUoef A T 872

A) POP3 B) SMTP
C) IMAP D) UART
Raj can receive his e-mail, but he cannot send

e-mail. Which of the following is most likely
causing his problem?

A) POP3 B) SMTP

C) IMAP D) UART

1.4 4 9T3C ST TgH H AT glaT &

A) FTaE TEH B) gree UgH

C) A) 3R B)aml D) 3uiad H S ALl

The 4 byte IP address consists of
A) Network Address B) Host Address
C) Both A) and B) D) None of the above

1.5 SMTP & foIT fatriee Ul §:

A) 21 B) 23
C) 25 D) 80
The default port for SMTP is:

A) 21 B) 23
C) 25 D) 80
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1.6 39 SUTcils 7 Teh hary fold=1eh AT g gar g

A) &R B) &Her
C) Rer D) sd
In this topology there is a central controller or hub
A) Star B) Mesh
C) Ring D) Bus

1.7 U HTYeX AR MNeZNAST st e g7 7 agfaer
I 1 ITH H 15l bl A& YeTel Ll §, T6
3

A) o (LAN) B) dsT (WAN)

C) #F (MAN) D) 3WIed H ¥ FIS =Igi
A computer communication technology that
provides a way to interconnect multiple computers
across short distance is

A) LAN

C) MAN

B) WAN
D) None of the above

1.8 U A9 Ul U WHlel YSRId adl § 39 Plel &l
YT L & ToT fomg 97 ot w=aer fomam aram?

A) e B) A
C) img D) src
A webpage displays a picture. What tag was used
to display that picture?
A) picture
C) img

B) image
D) src

1.9 S 3 L7 QMiFS el & fT TETHTML a1 82

A) <body color="yellow”>

B) <body bgcolor="yellow”>

C) <background>yellow</background>

D) <body background="yellow”>
What is the correct HTML for adding a background
color?

A) <body color="yellow”>

B) <body bgcolor="yellow”>

C) <background>yellow</background>

D) <body background="yellow”>

1.10 T Wikl FBRIATe #H et T g
A) Fifd® R B) UTAlchelel oldX
C) 3eT feldh ok’ D) =icach oY

A proxy firewall filters at the
A) Physical layer B) Application layer
C) Data link layer D) Network layer
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2. g fay MU ye faaweT A1 O W A7 I B | D
a9 SUYad fabed g 3R SN [eferiea MRl &

TR UeT UF & AR SUel IR Y “HGHIR”
IR T H ol P | (1x10)

2.1 ﬁaraqiﬁsﬁagaﬁeaﬂ?hwa

2.2 CLASS A & T 255.0.0.0 f3%ice Aeas ARG g

2.3 X & 3IUARIHRAIRNT earT LAN 3 & foar o
b

2.4 POP 173 & 31T< aTell ST AT &

2.5 .com &1 ST 1 yfafAfaca sear 2|

2.6 3c¥eic Tl YSTdT AF BT o fIT AATE YeTeT Sl
g

2.7 ASP T &1 3R I TE&hitear fedat B

2.8 HTML &I 394197 AAA: a9 S8 &t & fow
[ERI ISR

2.9 TELNET WieYeriel 91 24 4R i T 36T &

2.10 aﬁmaﬁrsﬁwﬁmaﬁa@mﬁwaga
3Lk & T&T UDP ST SANST TohaT ST B

2|Page
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Each statement below is either TRUE or FALSE.
Choose the most appropriate one and enter
your choice in the “OMR” answer sheet
supplied with the question paper, following
instructions therein. (1x10)

2.1 Mesh topology is highly reliable.

2.2 255.0.0. 0 is default network mask for CLASS A.

2.3 Printer can be shared in LAN by many users.

2.4 POP is the incoming email server.

2.5 .com is represents education domain.

2.6 Internet Service Provider provides services for web
hosting.

2.7 ASP is server side scripting language.

2.8 HTML is generally use for web designing purpose.

2.9 TELNET protocol is working on port 24.

2.10 UDP is used where the acknowledgement from

receiver side must be needed.
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Hie™ X # ey U e AR gt @1 fAam dfem Y § U v fNheqw defda a1/ weel [/ arad

| I Y Y SR B e dRA U IO fAded TR 9H @ W AU Y USHAR IR
TH H T B | (1x10)
X Y
31 |ug weea ST L, A. | ARPANET
32| o SRieT T a Ot GTotel e 3 TN fohaT T 8. B. |DNS
33 |zery el off SoTT aFollSe & WU FhaT Sl ehell 2, C. |ISDN
34 | gHent AT Se¥ete W faffiest YehR 1 SaT wisdll o [afada & forv foram D. |FDDI
ST § : 3Atfea, Aifsar, saed, Ttelieh el e
3.5 | ZHHI YA &I Al o A Y FYH TATTIT et oh TolT fordT AT L. E. IMAP4
3.6 | TCP/IP §g I shratiea et & TolT TUe wieah. F. |ATM
37 |ug oYt Rt 3meid St . G. |IRC
38 | ug Fegel & v Aviiagy fashiead AT Jomel 2. H. | SGML
3.9 |zger 3uAler YRR Afdhed & WX eafer, Aif3a, ser 3R 37 scas I | s 37cROT WehTe
Har3tt & f3foree gavwor & fav foear Srar g,
3.10 |FTP J. | PPP
K. |[HTML
L. |HTTP
M. |SLIP
4, A foT T YRS g § AR S TS g W UE IR T AR Dl WMol I H R | e e
faded g7 IR I Frfcrilad el & IgaR Ued U3 & 9T iU Y “SITHAR” SR Todh H SFUT
fdwea <o N | (1x10)
A | e B. |W3ex IRC
D. MAC 138 E. <[> P wd|
G. |sSLP Ho | 4es UDP
J. | Eam K. |ATM <IDOCTYPE>
R ppm—
41  faea & aifoifcaes fraremamt &1 agradr & fow e 3T¥ge HI U AT g
4.2 HTML 9T & [T H <Fer> tfade nfAd fhar ar gehar g
4.3 FEA: TaaR Taa1eT i 3 Togg Fouwor o fov f3omear fova sram €, Aiferst foislt wideit o @ cafad
& STFd GESwoT B 87 JreTAfTy G &
4.4 HTIEY T Hlicteh Tl §.
45 Tk 3YFOT & THHHT ITART Aede oA & foav forar sirar g
4.6 THhIZH 32T & Bic, TR 3R & Sohed 7 T Xl &
4.7 &3T ST 3TN F¥eh, 3T STaT Rghee &l HTML STargaie 3 enfier o Hehcl &
4.8 ol IUANT Fcach 3 YT Sl Gl o T fopar STIcr §
4.9 T Ge¥aic HIEThiel T HYCTRYOT & St fofs TNRarer AEd 3R AISH hateherel WX R & faw G fohar
AT
410  <html> 31 ¥ g, YU 319k HTML EEdTdST & a8 Ugel Mol &l STeiT AT
3|Page M2-R4-07-17
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3. Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s) in
column Y. Enter your selection in the “OMR” answer sheet supplied with the question paper,
following instructions therein. (1x10)

X Y
31 It is stateless protocol. A. ARPANET
3.2 It is used to create static web page. B. DNS
3.3 It can be accessed from any email client. C. ISDN
3.4 It is used to exchange different kinds of data files on the Internet: D. FDDI
audio, video, images, application programs.
35 It is used to establish a direct connection between two nodes. E. IMAP4
3.6 First network to implement TCP/IP suite. F. ATM
3.7 It is token ring based protocol. G. IRC
3.8 It is hierarchical decentralized naming system for computers. H. SGML
3.9 It is used for digital transmission of voice, video, data and other L. File Transfer Protocol
network services over the traditional circuits.
3.10 | FTP J. PPP
K. HTML
L. HTTP
M. SLIP

4, Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list below.
Choose the most appropriate option, enter your choice in the “OMR” answer sheet supplied with
the question paper, following instructions therein. (1x10)

A. |Repeater B. |Router C. |[IRC

D. MAC address E. <script> F. IP address

G. |SLIP H. |<head> . UDP

J. E-Commerce K. |ATM L. <IDOCTYPE>
M. |<style>

4.1 provides a universal platform to support commercial activities across the globe.

4.2 <meta> element can be added in the section of HTML page.

4.3 is mainly designed for group communication in discussion forums, but also allows one-on-one
communication via private messages.

4.4 is physical address of computer.

4.5 is device which is used in Network layer.

4.6 uses encodes data into small, fixed-sized packets.

4.7 Using tag, you can add JavaScript in HTML document.

4.8 is used to identify computer in network.

49 is an encapsulation of the Internet Protocol designed to work over serial ports and modem
connections.

410 The declaration must be the very first thing in your HTML document, before the <html> tag.
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AT €1 /| PART TWO

($% IR Y BT TR %f)/(Answer any FOUR questions)

5.
a)
b)
c)

a)
b)
c)

a)

&9 31t g & & 37eR saw

FDDI &I cIrear

Scach aaTdiel T &2 T8 XIeNToIsit & e Farw
fohoal dleT Y SATEAT oy

Give difference between hub and switch.
Explain FDDI.
What is Network topology? List all topologies.
Explain any three.
(3+4+8)

TRRAT AT §? BRIAT o YR T SATEAT Y.
Scdeh chl GR&T & ToIT SSL & SN &l saTEdT &l

LAN, MAN Td WAN & &I &7 37X &7

What is firewall? Explain types of firewall.
Explain the use of SSL to secure the network.
What is the difference between LAN, MAN &
WAN?

(5+5+5)

HTML &7 82 a9 fSomsfaer & R{uredr &1 e
FL

b) IP T3 AT & R & FdATd
¢) TABLE & &7 35T I §C Teh HTML &5 ford
3R fArfaf@d grar IR &
A B C
D|E|[F|G
H I J
K
a) What is HTML? Explain principals of web
designing.
b) Explain IP addressing scheme.
c) Write a HTML code using TABLE tag and create
following structure:
A B C
DI|E|[F|G
H I J
K
(5+5+5)
S|Page
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CGIl FT8?
SIHT AT YOTTOIT Y AT hi

TCP/IP 9819 & TUSE Y

What is CGI?
Explain domain name system.
Explain TCP/IP in brief.
(3+4+8)

31 qX Gigrea feouoh ford
WWW

EHERS FEATETT

e

Write short notes on:
WWW

Digital Signature

Search Engine
(5+5+5)
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